
6 
7 
8 
9 

10 

1 
2 
3 
4 
5

11 
12 
13 
14 
15 
16 
17 
18 

ITEM NO. DESCRIPTION QUANTITY PART NO.

Date: February 2014 
Dwg. No.  EGA-25CEJECTOR (GASKET) 

1/2" Tubing Connector 1 
5/16 - 18 x 31/2" Bolt 4 
Seat Plug 1 
Valve Seat 1 
Diaphragm Bolt 1 
Support Diaphragm 1 

TCA-84 
BTA-135 
EJA-311  
GA-VIT-122 
EJA-206  

Diaphragm 1 
Diaphragm Nut 1 
Top Body 1 
Bottom Body 1 
Throat 1 
3/8 - 16 Nut 2 

DIA-105 
DIA-104 
EJA-146  
EJA-208-250 
EJA-153  
TTA-189-386

Flange 2 
O-Ring 2 
5/16 - 18 Nut

 
4 

3/8 - 16 x 41/2" Bolt 2 
Nozzle 1 
Spring 1 

EJA-136
OA-BUN-214 
NTA-104 
BTA-145 
TNA-187-300 
SPA-106

NOTE: Many different nozzle/throat
combinations are available to work within 
given hydraulic conditions. The above 
sizes are supplied as standard equipment. 
Refer to nozzle sizing charts for correct 
sizing.  

NTA-106




